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Sl. No.1
QBID:1554971

Choose the correct form of verb to fill in the blank.

The captain decided him in the playing eleven.
(1) never kept

(2) keeping

(3) not to keep

(4) to not keep

FoftEa 7 9 F-9 afal omm 8

moowp
S @ 2l g o

=4 fou 0 fawedl # 8 98 W &1 994 Silv:
(1) A.B3RC
(2) B.D#RE
(3) B.C3RD
(4) C.D#RE

1[Option ID=13801]
2[Option ID=13802]
3[Option ID=13803]
4[Option ID=13804]

Sl. No.2
QBID:1554972

Choose the appropriate preposition to complete the sentence.

Anila had many books and papers scattered all the room.
(1) over

(2) around

(3) through

(4) m




U s Fed 82

(1) Sl WeI% Weg] & 3Hd H PR 310 Y daa d 6|

(2) Gl XTez aTd § 42y, [T, HRS 3R B &1 Hol S8 1 I 1Gd] 6|
(3) Sl YeaW Wsg P 1S T SSH 38 31U T f[a2vdl ST Dl o
(4) O G A1 &l Y P Wea MHaTeR, 791 Usa g1 Sl ¢ |

1[Option ID=13845]
2[Option ID=13846]
3[Option ID=13847]
4[Option ID=13848]

Sl. No.3
QBID:1554973

Choose out the correctly spelt word.
(1) Heirarchy

(2) Hierarchy

(3) Heanarchy

(4) Hairarchy

Faioias # 9 dF oG wes [iga e

e fou o fawedl § € 981 I &1 994 Fifom:
(1) A.B#RD
(2) A.B3RE
(3) A.C3RE
(4) B.D3RC

1[Option ID=13873]
2[Option ID=13874]
3[Option ID=13875]
4[Option ID=13876]

Sl. No.4
QBID:1554974

Identify the correct indirect narration for the following sentence.

"Would yvou mind taking off your shoes before entering the house?" He said to the
toreigner.

(1) He requested the foreigner to take off his shoes before entering the house




(2) He told the foreigner that he must take off his shoes before entered the house
(3) He said to the foreigner that to take off his shoes before entering the house

(4) Betore entering the house he said that shoes must be taken off

"yTeT TrETfeie Sidl & &1 arddy Bl

HTeT T H o fAeiid st 3l

. HTYT TS Bt 5

U7 ST T B

. HT9T TIEER § o4 € 3955 gidl o
YT | A % de-fave fews usd B

MU0 W

A feu 7Y fosedl § 9 a9 SUgad 9 &1 904 S
(1) A, B3R D
(2) $T@ B, C 3R E
(3) HAAA, C 3R E
(4) HTAB, C 3R D

1[Option ID=13877]
2[Option ID=13878]
3[Option ID=13879]
4[Option ID=13880]

Sl. No.5
QBID:1554975

Rearrange the following parts of a sentence labelled as PQRS to make a
meaningful sentence.

P. From following universal
Q. Like honestly and integrity
R. And timeless principles

S. Moral authority comes

1) QRPS

2 RQSP

3) SPRQ

4) SQRP

ot ol # 9 g 9190 [fga sy
(1) Fden 3 go@ oo =81 well

(2) e = 499 % =l Sel

(3) Fden g2 @ 7= 75 =a1

(4) foeden 5 09 € oo ¢ ®al




1[Option ID=13881]
2[Option ID=13882]
3[Option ID=13883]
4[Option ID=13884]

Sl. No.6
QBID:1554976

Pick out the antonym of 'enemy’.
(1) Criminal

(2) Disciplined

(3) Benefactor

(4) Virtuous

fau 7o aregt & FarfafEa oRh & 98t w0 & qu o)
TS & T U6 SaTed! gd

A. Tataa 1 o fear u

B. S Wed & &

C. TSI % st fage
D. ueme &1 i § $a

E. 9909 §laR W

+td fau 7 faweal # ¥ T8t I &1 994 S|
1) A.C.B.D.E

) C.B.D.E. A

3) C.E.D.B. A

4) D A.C.B.E

1[Option ID=13885]
2[Option ID=13886]

3[Option ID=13887]
4[Option ID=13888]

Sl. No.7
QBID:1554977

Pick out the meaning of the underlned idiom m the following sentence :-

The publishers have recently brought out seventh edition of the book.

(1) Reviewed

(2) Published

(3) Called back

(4) Cancelled

I S ey R mm 21

FYF [ : SHeaihT AT B

A 11 : T mieg! 9 #15 wy o giEa 781 e, 3% o ¥ies &od ol

IUITd HYH & RIS H, A 2T 70 fGeHedi § 9 F98 Iugad IR 1 994 Sl

(1)




Sy [ AR 1 gHf 98t &
(2) FYH SR I e T d &
(3) wvH I WEl & Qe sy I1 7Tad &
(4) FE[TEEE AFET U [ 9E 2

1[Option ID=13889]
2[Option ID=13890]
3[Option ID=13891]
4[Option ID=13892]

Sl. No.8
QBID:1554978

Choose the correct passive voice form of the following sentence.

Put this picture on the wall.

(1) The picture can be put on the wall

(2) Let thig picture be put on the wall

(3) You are directed to put this picture on the wall
(4) The picture can't be put on the wall

THY IUBK &I - A= aIe & o Tel Teg afed Sieg
(1) w7

(2) $T

(3) FH

(4) few

1[Option ID=13893]

2[Option ID=13894]

3[Option ID=13895]
4[Option ID=13896]

SI. No.9
QBID:1554979

Pick out the synonym of the following word:
Shimmering.

(1) Dull

(2) Greatly

(3) Recessive

(4) Radiant




= 1 & Y = 11 1 A e

T 1 (e = 11 (FEEE
A I T

B. $Hq 11. Frm

C. greft TII. S

D. 93 V. e

Hi fou 7Y fowedl § § Fel TR &1 994 S|
(1) A-IL B-IV, C-III, D-I

(2) A-IV, B-III, C-I, D-II

(3) A-IV, B-1. C-III, D-II

(4) A-I B-II. C-III. D-IV

1[Option ID=13897]

2[Option ID=13898]

3[Option ID=13899]
4[Option ID=13900]

SI. No.10
QBID:15549710

Identify the part of speech of the underlined word in the following sentence.

I ask it as my right.
(1) Noun

(2) Adjective

(3) Verb

(4) Adverb

fFrafafad @ ¥ gerar [afgd @i

A. BIY 4T B Ul g1
B. W& Uid 7 Hel f9ars, 91 a1 o UR |15
C. Bl BT qU TS I
D. Bl @I 3¢ ol D1 ASL. HITHA 4 HIaT SIS
E. 9l o9 Yld
Hid feu U faedl § T el 3R &l 9g- Siforg|
(1) B,C3RD
(2) B.D3RE
(3) A.B3RE
(4) A.C3RD




1[Option ID=13805]
2[Option ID=13806]
3[Option ID=13807]
4[Option ID=13808]

Sl. No.11
QBID:15549711

Dara Sikho. the eldest son of Shah Jahan, wrote 'Sur - 1- Akbar' which
contamed:

(1) History of Akbar's rule as emperor

(2) His philosophy on Islam

(3) An account of Indian religious rituals

(4) Fifty chapters of Upanishads

WEwel & 964 g8 92 gNI BerE ¥ Tl-u-sway e fodl Suet sradyg o1 22
(1) THE & 9 H IHa & I S 5

(2) ST F a1 § SHH1 a=A

(3) HRdE yIfHe FHeTs! F1 90

(4) TUHYE W T=N Y

1[Option ID=13809]
2[Option ID=13810]
3[Option ID=13811]
4[Option ID=13812]

Sl. No.12
QBID:15549712

Identify the correct combmation of the UNESCO heritage sites associated with
Buddhism.

. Mahabodhi Complex
. Sarnath

. Sanchi Monuments

. Kushiagar

. Ajanta Cave

. Elephanta

HEDoW e

Choose the correct answer from the options given below:
1) A.B.C.D
2) A.B.D.E
3) A.C.E.F
) B.C.D.E




15 i ¥ 92 TS WRieY Tl & 98 99g $1 UggE Sifeg|
A. FEEY giE

B. SR
C. 9rE HRE

D. FEFR

E. 3= TF
F. uferther

i feu U [9@sedl & 9 981 TR &1 90 i
1) AB.C.D

2) A.B.D.E

3) A.C.E.F

) B.C.D.E

1[Option ID=13813]

2[Option ID=13814]

3[Option ID=13815]
4[Option ID=13816]

Si. No.13
QBID:15549713

Indicate the correct combination of usages of Brine. a byproduct of de-salmation
from the following.

A. Food processing
B. Pickling

C. De-toxicating
D. Hair growth

E. De-icing

Choose the correct answer from the options given below:
1) A.B.C
(2) A.B.E
3) C.D.E
) B.C.D

S5, G0 & U JUidig, & I9gnll &1 951 S5 Ygan-g|

A, EE-HEERE
B. @R s
C. FaEmE

D. &1d §g [T

E. faEsa

A feu 7o fomeal # & 981 3T &1 90 Sifog|
1) A.B.C




(2) A.B.E
3) C.D.E
(4) B.C.D
1[Option ID=13817]
2[Option ID=13818]

3[Option ID=13819]
4[Option ID=13820]

Sl. No.14
QBID:15549714

Match List I with List IT

List-T (Product/ Company) List-IT (Tagline)

A Nike [. Think Small

B. Apple II. Just Do It

C. De Beers [II. Think Dafferent

D. Volkswagan IV. A Diamond Forever

Choose the correct answer from the options given below:
(1) A-IIL B-IV. C-I, D-II
(2) A-IL B-II. C-III. D-IV
(3) A-IL. B-III. C-IV. D-I
(4) A-IV. B-1. C-III, D-II

I 1 o 1Y gl 11 &1 i Sifew|

-1 (STE HH) 111 (Yo a1ad) (71 Ti5)
INE EE 1. fi® W

B. UWd 1.9 g 3¢

cfsdamd 1. i femie

D. diaEdT™ V. U SHHS BR T

i fau ¢ faswedi 9 9g! TR &1 9894 Biforu|

(1) A-IIL B-IV. C-1. D-II
(2) A-L B-II. C-III. D-TV
(3) A-IL B-IIL. C-IV. D-I
(4) A-IV. B-1. C-III. D-II
1[Option ID=13821]
2[Option ID=13822]

3[Option ID=13823]
4[Option ID=13824]

Sl. No.15
QBID:15549715

Boson is a sub-atomic particle named after:




(1) Prafulla Chandra Ray

(2) Homi Bhabha

(3) Jagadish Chandra Bose

(4) Satyendra Nath Bose

T UF SU-TAUIEE S0 & forge 7 69 e & 91 W @ T 27
(1) ¥HTd g% {

(2) B HIHI

(3) FTETErE S

(4) §&= 1Y S

1[Option ID=13825]
2[Option ID=13826]
3[Option ID=13827]
4[Option ID=13828]

Sl. No.16
QBID:15549716

Find missing number

3.06,45; . 175
(1) 105

(2) 115

(3) 136

(4) 96

T & garsy|

LA | N ) &
(1) 105

(2) 115

(3) 136

(4) 96

1[Option ID=13829]
2[Option ID=13830]

3[Option ID=13831]
4[Option ID=13832]

Sl. No.17
QBID:15549717

Choose the pair to best represent a similar relationship to the one expressed in
the original pair of words.

Vein : Blood

(1) Pencil : Lead
(2) Pen: Tip

(3) Hand : Finger




(4) Shoe : Foot
Tea! & 0 O | Hfiorad 9 & o 99 96 &I 90 &9 § Veikid S ard g &
ElRL

L L B ]

(1) U ; @il (Ts)
(2) U9 :Af®

(3) 1Y : Sl

(4) ;W

1[Option ID=13833]
2[Option ID=13834]

3[Option ID=13835]
4[Option ID=13836]

Sl. No.18
QBID:15549718

Nishi's college is situated at a distance of 10 Km towards South from the home.
She leaves her home at 9.00 a.m. for her college. However. on reaching the
college, she takes left turn and walks for 3 KM. Again, she turns left and walks
for 2 Km before taking another left turn. After taking the turn she walks for 9
kem. How far she is from her home.

(1) 19 Km

(2) 10 Km

3) 12Km

(4) § Km

MiTFsw e NI G d 10 F A R UG e T Fowo- & RT3 g5
0 99 F®adl &1 W HIcel Ugg4 & 1§ 9¢ a4 4edl & R 3 50 9adi 71 98 R 9 o
Tl & SR U@ SR 9191 J1s o ¥ Jed 2 f o o1 Al O & a1¢ 95 9 T e
¥E 95 U4 W ¥ fHa gr e

(1) 19 Tt

(2) 10 sl

(3) 12 fwdt

(4) 8 T

1[Option ID=13837]

2[Option ID=13838]

3[Option ID=13839]
4[Option ID=13840]

Sl. No.19
QBID:15549719




In the question statement and assumptions are given. Consider the statement and
choose the correct option from the following on the basis of the assumptions.

Statement: Ram applied for an education loan from a bank of Rs. 5 Lakhs by
mortgaging his house and promised to repay the loan after 3 years of his
graduation.

Assumptions:
(1) The bank accepts house as collateral security against education loan

(1) The Bank grants education loan up to Rs. 5 Lakhs

(1) Oanly (1) 1s implicit

(2) Only (11) 1s implicit

(3) Both Only (1) 1s implicit and Only (11) 1s implicit

(4) Neither Only (1) 1s implicit nor Only (11) 1s implicit

59 U § gaaad SR Jd YRUMU &l §% ¢ | 0 YROMSH & YR IR gaqed IR
AR BIfoE SR - [ 71U fgepedi O © He! faed &1 99+ sifor|

gaaed: I = AT R iR Teee s T S0l & e o & fquda o
3{1a5 faa1 3R a=- & fo a5 diF 9 & | 3= & a18 B0 IH1 o
Jd-YRUTY:

(i) T1871 BU & 00 §9 R &1 @ FMyR & 9§ WioR Hdi gl

(if) §F 5 TRG =0 P BT &7 HUT U Rl g
(1) ad (i) 5l IPIRd e

(2) &ad (i) 5 IPIAed o

(3) (i) B IPIMed & 3R (i) o YFI-ed 5. I

@ A (i) e TP g R AT (i) T TpIfgd g

1[Option ID=13841]
2[Option ID=13842]
3[Option ID=13843]
4[Option ID=13844]

Sl. No.20
QBID:15549720




Question below has one statement and two arguments. Decide which is strong
argument and which one is weak argument.

Statement: Should the law for marrying girls be increased to 25 years?
Arguments:
(1) Yes. it will check the population to a certain extent.

(1) Yes, girls will become more skilled in doing household work.

(1) Only (1) 1s strong argument

(2) Only (u) iz strong argument

(3) Neither Only (i) 1s strong argument nor Only (1) 1s strong argument
(4) Both Only (1) is strong argument and Only (1) 1s strong argument

+r fau v uy § U gaqey 3R €1 a& ol fAufo Fifew fF S99 aF vea & o S
% gad Bl

qedol: T TSiedl & fGag B oY SRl ST B 9gsT 25 94 ab &Y 1 gt

T
(i) &1, 9% f&<i I a% S & FfEd $3

(it) &F. e ®W B34 # asfeal AR sifve g & ot
(1) %ad (i) 8 U e a ol

(2) a9 (i) B 999 o g

(3) 1 Had (i) T IF 7aa 7P ¢ 7 &l $ad (i) I99 ab &
(4) (i) #9151 UF WS db & AR $ad (i) 5 ¥&d & &l

1[Option ID=13849]
2[Option ID=13850]
3[Option ID=13851]
4[Option ID=13852]

Sl. No.21
QBID:15549721

How long will sum of money invested at 7.5% per annum at simple interest take to
increase double of its principle value.

25 i
(1) 25— yrs.
3 Y

N

(2) 26— vrs.
3 ¥

(3)




2
27— V5.
3 ¥

2
(4) 28— vyrs.
3 ¥

g f&t qoe" F1 7.5% 09 #1 R 3 Fe9 $31 W 99 o0 | gou= § g e o
fepa1 w8y T

7
(1) 25—

T
(2) 26E

[

2 of
3) 27—

Gl
(4) 28E

1[Option ID=13853]
2[Option ID=13854]
3[Option ID=13855]
4[Option ID=13856]

Sl. No.22
QBID:15549722

Ramesh invests Rs. 10.000 in Bank Fixed Deposit which offers 8% per annum
compound interest and Rs. 10,000 in post office which is offering 8.5% per annum
compound interest. How much total interest he will earn after 2 years.

(1) Rs. 2436.50

(2) Rs. 3463.25

(3) Rs. 34306.25

(4) Rs. 2463.50

Y ¥, 10,000 ST HIATY SHI DT 6, [STH 8% Ah (G S4T B &2 9 adl
. 10,000 STHUR HAT THI H 8.5% AhdiG oo B &2 § S pal g | 2y
g1 39 a1 gnfed sare T

(1) ¥=.2436.50
(2) ¥=.3463.25
(3) ¥.3436.25
(4) ¥.2463.50

1[Option ID=13857]
2[Option ID=13858]
3[Option ID=13859]
4[Option ID=13860]

Sl. No.23
QBID:15549723




If x = — isaroot of % — jox — E — (). then value of k 1s-

2

1) -2
(2) 2

1
3) —

4

1
4) —

2

-1

UE%ZJ.:?HIﬂWWf_h_%:oWHﬁ%_ﬂakﬁﬂﬁﬁTﬂ-
1) -2
(2) 2

1
3) —

4

1
(@) —

2

1[Option ID=13861]
2[Option ID=13862]
3[Option ID=13863]
4[Option ID=13864]

Sl. No.24
QBID:15549724

Match List I with List IT

List-I List-IT
A If o =227 A cone with radius 7 m and
hight 1s 3 m, 1ts volume is

1550 m®

B. A cvlinder with radius 5 m and hight 1s

T m. its volume 1s II 154 m°

C. A Sphere with radius 7 m, its volume is |I[I. 27 m°

S - y . 4312
D A cube with side 3 m. itz volume 13 Iv. ——
3

Choose the correct answer from the options given below:
(1) A-IL. B-I1. C-IV. D-III
(2) A-IL B-II. C-III. D-IV
(3) A-IV. B-III. C-II. D-I
(4) A-II. B-I. C-IV. D-III




il 1S 1Y Gl 11 DT fHe Sifor)

-1 Tal-II
A TG n=22/7 Tp oGB! BT 7m dT
3T 3m 8, 39F] GdA :
B. S [ Hd! ol Sm. dUT$HdTs Tm,
REEARSIDRES

C. 7Tl 9@ Bl 7m 8. 39! AWEH|IIL 27 m?

. 4312
D. ¢ forTaT Yol 3m &, ST@T 0T |[IV. ——m’

2

II 154 m°

I fou v e | ¥ 98l SR 994 Sifoe:
(1) A-II. B-I. C-IV. D-III

(2) A-IL B-II. C-III. D-IV

(3) A-IV. B-IIL. C-II. D-I

(4) A-II. B-I. C-IV. D-III

1[Option ID=13865]

2[Option ID=13866]

3[Option ID=13867]
4[Option ID=13868]

Sl. No.25
QBID:15549725

Given below are two statements: one 15 labelled as Assertion A and the other 13
labelled as Reason R.

: . n(n+1
Assertion A: Average of first n natural number 18 ( )
142434 ... +n n+l
Reason R: = ( 5 )
n

In the light of the above statements. choose the correct answer from the options
given below:

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s NOT the correct explanation of A

(3) A is true but R 1s false
(4) A is false but R 1s true

3 HyA fRu e B
PUAT :wxlmwaﬁﬁaﬁﬂﬂ”“;” ST g
a?u:[II;l+2+3+ ......... +n (n+1)

1 m——| iy
IUYdd DY P el H, A 3T T fabed| & 9 Fad Jugad Stk B 90
I




(1) FHyF1 3R 11 SH T8l 8
(2) HYFI R I EH Tad §
(3) HYT1TEI 8. Afpd HUT I TTd ©
(4) Y176 8, Afhd PUT I TG &

1[Option ID=13869]
2[Option ID=13870]
3[Option ID=13871]
4[Option ID=13872]

Sl. No.26
QBID:1224551

Caffeine. Theophylline and theobromine chemically belong to which class ?
(1) Pyrmdmnes

(2) Coumarins

(3) Xanthines

(4) Flavones

S, I SR TS Iamaite &0 3 fog o # 3d 8

(1) foRmESE

(2) s

(3) o

(4) wdH

1[Option ID=12801]
2[Option ID=12802]
3[Option ID=12803]
4[Option ID=12804]

Sl. No.27
QBID:1224552

The mcorrect statement for the SAR of barbiturates is

0
Rg e
N
0 N 0
H

(1) 5.5 - Disubstituents are not important for activity
(2) Increase in an alkyl chain at R1 increase the lipophilicity

3) Replacement of oxygen atom with sulfur nereases the lipophilicity and rapid
onset
Replacement of both hydrogens at position 5 with alkyl or aryl groups confers

4 the activity




SAR & aifdcgicyd & R Toa &= 87

O
Rs o e
S
0 °N 0
H

(1) 5.5 - feufomnfua sfram & o wgagf =8 2

(2) ¥E R1 # ufera da@en & Sgd & af aarire i Fgdi

3) Ve HiFHio O] B GehY G0 S oiTg Wil S & ol SaRIRTel dgdl § AR ool
HR Bl B

(4) fufy s w3 eEeeH &1 tepia a1 vha 9Hg g1 wiawTos, |feaar &1 gmiar 21

1[Option ID=12845]

2[Option ID=12846]

3[Option ID=12847]
4[Option ID=12848]

Sl. No.28
QBID:1224553

Increasing order of B, agonistic properties of the following compounds is

CH
HO~, .7 NHy
A |
HO -

OH

HO-. N
E @/Lv HCHE
e e
it
H
HO = i \,\{
c |
HO™
OH

H
w URESPN

Ho”

Choose the correct answer from the options given below :
1) A<B=<C<D
(2) B=<C=<A<D
3) D=<A<B=C
(4) D=<B<A=<C




Frafafea diffet § B, Thifies & JorH &1 9501 #4 ¢-

OE

OH

HO - ,l\/*‘a
5 CH,
HD'-"
T &
HO~. = _-/L,_v_f}'-“-‘,_{\-:
c |
HO~ =
e
H
HO R
D \@/J‘v o
HO~"

Choose the correct answer from the options given below :
(1) A<B<C<D
(2) B<C<A<D
3) D=A<B<=C
4) D<B<A<C
1[Option ID=12889]
2[Option ID=12890]

3[Option ID=12891]
4[Option ID=12892]

Sl. No.29
QBID:1224554

A general phamacophore for histone deacetylase mhibitors involves
(1) Cap. hydrophilic linker, magnesium binding domain

(2) Cap. hydrophobic linker. magnesmum binding domain

(3) Cap. hydrophilic linker, zinc binding domain

(4) Cap. hydrophobic linker. zinc binding domain

TF g R feufiemay seiive # X 3 g 3

(1) ¥U, gEoiftrfes dy, Hiifamm dy g3

(2) U EREIGe® gy, Hifgd dy &9

(3) FY TESIHBIE §Y, 75 59 &

(4) U, cEgIBIES gy, T &Y &9

1[Option ID=12933]
2[Option ID=12934]
3[Option ID=12935]
4[Option ID=12936]

Sl. No.30




QBID:1224555
Match List I with List IT

List I List II
A [Hammett's constant I. [ES
B_ [Tafts' steric parameter  [II. @
IC. IMolar reflectivity 1. ME.
D. [Partition coefficient IV. PC

Choose the correct answer from the options given below :
(1) A-IL B-I, C-III, D-IV
(2) A-L, B-II, C-III, D-IV
(3) A-II, B-III., C-I, D-IV
(4) A-IV. B-1. C-II, D-III

il 1S 1Y Gl 11 DT fHe Sifor)
{4 sid &g gu Uil o 573 formei 1 firam Sifsu)

List I List IT
A [g8c RS 1 [ES
B. [clicd TR® WA e
lc. [T UadeT® M. MR
D. |fdcRur Tonids V. [PC

i fGu 7E fadedl & ¥ 9l 3R & 944 Sifol:
(1) A-IL B-L, C-IIL, D-IV

(2) A-L B-IL C-IIL, D-IV

(3) A-IL, B-IIL, C-L, D-IV

(4) A-IV. B-I, C-II, D-III

1[Option ID=12977]

2[Option ID=12978]

3[Option ID=12979]
4[Option ID=12980]

Sl. No.31
QBID:1224556

Match List I with List IT with Bonding type and Bond Strength

ListI List IT
A |Covalent bond [ |5 Kcal'mol
B [[onic bond I H0-140 Kcal'mol
IC Hydrogenbond [III |0.3-1 Kcal/mol

D [Vander waals bond|IV |1-7 Kcal/'mol

Choose the correct answer from the options given below :




(1) A-I, B-II, C-III, D-IV
(2) A-IIL B-IIIL, C-IV, D-I
(3) A-II. B-I. C-IV, D-III
(4) A-I B-IIIL C-IV, D-II

Il 1 P 1Y YA 11§99 UBR SR §Y g o1 fHaH sifor|
I T I

A [OEOOleE g4 I |5 Kcalfmol

B [OA® &Y M |0-140 Keal/mol

Ic ErEsreH ds M1 [0.5-1 Keal/mol

IB] mﬁﬁﬁ?aﬂ TV |1-7 Kcal'mol

e feu U fap el § O el 3R &l 90+ Difoly

(1) A-I B-II. C-III. D-IV
(2) A-IL, B-III, C-IV, D-I
(3) A-IL B-I, C-IV, D-III
(4) A-I, B-IIL. C-IV, D-II
1[Option ID=13021]
2[Option ID=13022]

3[Option ID=13023]
4[Option ID=13024]

Sl. No.32
QBID:1224557

The product of aromatic hydroxylation of acetanilide catalysed by CYP450 is

4]

AL

(1) o -NE Tem,
o
o

F

@[ 7"

e

OH

(3) RN Tl

s N
.

(4) :f|f’ 1‘]/* CHl;
o

CYP450 Iaifa thefiams & Wifts sesifyes &1 gae &2
(1)




1[Option ID=13065]
2[Option ID=13066]
3[Option ID=13067]
4[Option ID=13068]

Sl. No.33
QBID:1224558

Inhibition of this enzyme leads to anti-hyperurecemic effect -
(1) HGPRT

(2) COX

(3) LOX

(4) XO

form Toen ¥ Ay @ o) seuegfafis wuE g B-
(1) HGPRT

(2) COX

(3) LOX

(4) XO

1[Option ID=13093]

2[Option ID=13094]

3[Option ID=13095]
4[Option ID=13096]

Sl. No.34




QBID:1224559

o-D-Glucose and B-D-glucose are
(1) Anomers

(2) Epimers

(3) Rotamers

(4) Tautomers

-D- T R f-D- TFF ¢
(1) THmE
(2) UEHIH
(3) Emwd
(4) TemE

1[Option ID=13097]
2[Option ID=13098]
3[Option ID=13099]
4[Option ID=13100]

Sl. No.35
QBID:12245510

Following statement is True about heterocycles

(1) Pyridine readily undergoes electrophilic substitution
(2) The lone pair of pyridine's nitrogen atom is delocalised
(3) Piperidine is more basic than pyridine

(4) Furan is not an aromatic compound

fofefaa # 9 sednsfEay & i ud &9 8-

(1) TS e 9 stwem Hel wiowioe ififdan & gl

(2) RS F AEcom WA & o aod A fRifdd & &
(3) foufdie, e ¥ wme 4T &)

(4) TG U WAfes diffe e T

1[Option ID=12805]
2[Option ID=12806]
3[Option ID=12807]
4[Option ID=12808]

Sl. No.36
QBID:12245511

The product of the following reaction is

. _MgCl

.-"-’

(@) HCHO 0
(i) H,0"




H

" OH
(2)
. _OH
(3) Q H’
0

L

Cl
.
O

frafeafeg sfufea &1 3are T

o~ _-MgCl

4 W GHCHO o

L. . (i)H,0°

H

W ]“u

o OH
(2)

(3) |
O

l/’f OH
. w r/ Cl

O

1[Option ID=12809]
2[Option ID=12810]
3[Option ID=12811]
4[Option ID=12812]

Sl. No.37
QBID:12245512




Match List I with List 1T

List I List IT
A. :CCl, I. Free radical
B. 91\31{3 II. Carbene
&}ND i 111. Electrophile
» -y .
Cll, IV. Nucleophile

Choose the correct answer from the options given below :
(1) A-L B-II. C-III. D-IV
(2) A-II B-IV, C-III, D-I
(3) A-IL, B-III, C-IV, D-I
(4) A-L B-II, C-II, D-IV

T 1S 1Y Yl 11 1 e Sife|

T 1 GGl

A [[CCl; I Had Jad

'9}.;1_13 1. CAIER

. |®vo, I [30GeH Hel

p. [*CH, IV e SEl

Ad feu U faedl § T el 3R &l 9g- Hifolu
(1) AL, B-IL, C-III, D-IV

(2) A-II, B-IV, C-III D-I

(3) A-II, B-III, C-IV, D-I
(4) A-I, B-IIIL, C-II. D-IV

1[Option ID=12813]
2[Option ID=12814]
3[Option ID=12815]
4[Option ID=12816]

Sl. No.38
QBID:12245513

Which one is Incorrect 7

(1) A structure with a plane of symmetry is achiral.
(2) Superimposable mirror images cannot exist as two enantiomers
(3) 'Chiral' does not mean 'enantiomerically pure'.

(4) Diastereomers have similar physical properties




g d § Toa -1 8

(1) uF = o gHaa # & 98 @i o

(2) < wfafdasdt e g yfafds w Rt T8 o 96d B
(3) FNT F1 AaTE WA F9a1 75l o

(4) mfafes Bfee aaeod & e 999 Hifas Joed 51 8

1[Option ID=12817]
2[Option ID=12818]
3[Option ID=12819]
4[Option ID=12820]

Sl. No.39
QBID:12245514

Identify the polar aprotic solvent.
(1) Water

(2) Benzene

(3) DMSO

(4) Acetic acid

Ydig Wi [Aumgs #f uga Sivg|
(1) 7@

(2) &=

(3) ST TE 3 (DMSO)

(4) ufafes oias

1[Option ID=12821]
2[Option ID=12822]
3[Option ID=12823]
4[Option ID=12824]

Sl. No.40
QBID:12245515




Choose the correct order of reactivity of followmg carbonyl compounds towards
nucleophilic substation reactions :

A

O
R)LCI

O O

O

0
R)J\*rml

Choose the correct answer from the options given below :
(1) A>B =>C=>D
(2) AB>D=>=C
3) BA>=C>D
(4) D=B>=A>C




el seAsy D! & feaos S8 afawme & 98 &5 991-

A

i
R..—"

el

B O 0
I

C. 0
R’M“DR

D. 0

RJH“MQ

= feu 7 fawegt # § w81 9T &1 994 ST ¢
1) A=B =C=D
(2) A=B>=>D=C
3) BA>C>D
4) D=B=A=C
1[Option ID=12825]
2[Option ID=12826]

3[Option ID=12827]
4[Option ID=12828]

Sl. No.41
QBID:12245516

Solvents can affect the rate of a reaction by

(1) Participating as a reagent

(2) Acting as a catalyst

(3) Dissolving the reagents

(4) All of these

foamae sfufra & a7 &1 ees a1 TWIfed & 9@l &7
(1) 3H{EHAS I T AT BIH

(2) TS Bl O B B

(3) HHFHHF FI Yo-=I Fih

(4) |4

1[Option ID=12829]
2[Option ID=12830]




3[Option ID=12831]
4[Option ID=12832]

Sl. No.42
QBID:12245517

Given below are two statements :

Statement I : To measure the conductivity of a solution, it is placed n a cell
having a pair of platinum electrodes.

Statement IT : Analytical methods based upon the measurement of a quantity of
electricity are termed as coulometric methods.

In the light of the above statements. choose the most approprate answer from
the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect

(3) Statement I i1s correct but Statement II 1s mcorrect

(4) Statement I i1s incorrect but Statement II 1s correct

R 1 == few M R

Fu | : was 31 9aea 9o F o 58 9t soaeis 31 3 S § 1@ oI 2
&y 11 : fagga &1 71 & A= & snuR W awvoes @Y & gamfcd &y sgad
gl

S9gad ®YE & e H, S 3T U el § ¥ 9Ed Suged St &1 904 S|

(1) Hu= [ 3R 11 21 981 2
(2) FYH] AR A TEd &
(3) &y [ W8l & Aftew wu I TToa &
(4) FE] TR AfFT S ([ EE 2

1[Option ID=12833]
2[Option ID=12834]
3[Option ID=12835]
4[Option ID=12836]

SI. No.43
QBID:12245518

The stability of a complex is affected by

(1) Complexmg ability of metal 1on

(2) Characteristics of the ligand

(3) Characteristics of mobiles phase

(4) Complexing ability of metal ion as well as characteristics of the ligand.
P B WS fHa® g1 yuIfad gar 22

(1) 9T M8 B Fho &5

(2) ferve yrawn & e

(3) wfcrefie saw1 & e




(4) oI =04 B Hewo &1 4 faifs & ques

1[Option ID=12837]
2[Option ID=12838]
3[Option ID=12839]
4[Option ID=12840]

Sl. No.44
QBID:12245519

Given below are two statements :

Statement I : The Karl Fischer reagent consists of a mixture of anhydrous
methanol, an anhydrous base (e.g. pyridine). iodine and sulphur dioxide.

Statement IT : The reaction of Karl Fischer reagent with water is

H,0+1,+S0, +3C,H,N+CH,OH — 2CH,HI+C.H,NH- SO,CH, + NO,

In the light of the above statements, choose the most appropriate answer from
the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect

(3) Statement I i1s correct but Statement II 1s mcorrect

(4) Statement I is incorrect but Statement II 1s correct

R syE Rumu g
FUY | : FIo fpER Afirsds, Mg #daTa, fedn ar f@iaEh), :mEs ik av

SEHEESS & HY0 ¥ §9a1 B
FUF [ ; =19 FIR AfifEds 31 w0 $ 9y Ao 2

H,0+1,+S0, +3C.H,N+CH,OH — 2C.H,HI+C,H.NH- SO,CH, + NO,

SHYF BUF $ 1S F, A fey 1 fGwedi F | ¥l I B 994 o)
(1) ®ua [ 3R 11 eHf 81 8

(2) H¥A [ R 11 EHf 7Taa §

(3) ®u= [ T8l g dfa By 11 o &

(4) B WAL AT A [ TE

1[Option ID=12841]
2[Option ID=12842]
3[Option ID=12843]
4[Option ID=12844]

SI. No.45
QBID:12245520




Arrange the followmg as per their energy in mereasing order

A. Ganmma rays
B. X-rays

C. IR radiations
D. Radio waves

Choose the correct answer from the options given below :
(1) D<C<B<A

(2) A<B<C<D

(3) B<C<D<A

4) D<B<A<C

FafTEd &1 371 ol & ded gy HH | Haryd S|

A, T &R
B. X-faam

C. IR fafe=m
D. &g @i

41 fau v el § § 981 S F1 994 Fifag
1) D<=C<B<A
(2) A<B<C<D
3) B=C<D<A
4 D<B<A<C
1[Option ID=12849]
2[Option ID=12850]

3[Option ID=12851]
4[Option ID=12852]

Sl. No.46
QBID:12245521

Which one of the following name reaction utilizes PPh, as a reagent 7

(1) Claisen condensation

(2) Aldol condensation

(3) Wittig reaction

(4) Bignell reaction

§70 ¥ BH-U1 TW sfuiEar & PPh, UF fisds @1 ot uged gl gl
(1) o d934

(2) Uesd Hu=4

(3) Tafgm afwisan

(4) farrett afifma

1[Option ID=12853]
2[Option ID=12854]




3[Option ID=12855]
4[Option ID=12856]

Sl. No.47
QBID:12245522

Match List I with List IT

List I List IT
A || ] I |Quinazoline
e W i:'-‘:-."i
B[ [ I1. [lsoquinoline
c | T ] I11. |Quinoline
e T i-—’
f__'_'.;:hh"‘-\. - "ﬁ::‘_a
D. (1 ] IV. [Coumarin
ey ~5= 0

Choose the correct answer from the options given below :
(1) A-I, B-II, C-III. D-IV
(2) A-IV, B-III., C-II. D-I
(3) A-IL B-I, C-III. D-IV
(4) A-II, B-III., C-I, D-IV

Tl 1 S 1Y Gl 11 o1 e ®ifo)

el =
p [0
o |10 b |
S NG
D. fl[f] IV, [Geade
g R

i feu U fasedl H ¥ Ul 3tk &1 904 $Hifely :
(1) A-L B-IL. C-IIL, D-IV
(2) A-IV, B-III, C-II. D-I
(3) A-IL B-L C-IIL, D-IV
(4) A-IL B-IIL, C-I, D-IV

1[Option ID=12857]
2[Option ID=12858]




3[Option ID=12859]
4[Option ID=12860]

Sl. No.48
QBID:12245523

Match List I with List IT

List-1 List-II
A [Shikimic acid pathway [ [Pyvruvie acid
Mivatonacid [I. [Farnesyl pyvrophosphate

“pathway
[Emden - Meyerhoff

IC. oheme (alyealysio) [II [Pheny] alanine and tyrosine
D Tricarboxylic acid v Two molecules of carbon
kvele ‘|dioxide (12 molecules of ATP)

Choose the correct answer from the options given below :
(1) A-L B-II. C-III. D-IV
(2) A-IL B-III, C-II. D-IV
(3) A-III, B-II. C-I, D-IV
(4) A-III B-1, C-II, D-IV

T 1S 1Y Yl 11 1 e Sife|
AL -1

A R ufis gy [ [Qrasidd i

B.[faei® s Uy [II. [FL-HEd UEel BRES

e ?“ﬂ” S AT

. CThTal I 3Fd n,aﬂa“:rm&naﬂmséiz
IEED “|3UT (ATP & 12 3T

=d feu 0 fawedl § Q Ul 3Tk &1 994 Hifol .

(1) A-I, B-II, C-III. D-IV
(2) A-I, B-III. C-II. D-IV
(3) A-III, B-II. C-1. D-IV
(4) A-III, B-I. C-II. D-IV
1[Option ID=12861]
2[Option ID=12862]

3[Option ID=12863]
4[Option ID=12864]

Sl. No.49
QBID:12245524




Match List I with List IT

List-1 List-II

A lcolchicine I L.sed for treatment of Alzheimers
dizeaze

B |Galanthamine [I[I. [Antigout
|C_|Campothecin [T [Antitumour activity

D Wincristine [V Used in the treatment of acute
' Iymphocytic leukaemia in children

Choose the correct answer from the options given below :
(1) A-II. B-I. C-III. D-IV
(2) A-L B-II, C-III, D-IV
(3) A-IL, B-III. C-I. D-IV
(4) A-IV. B-I. C-II. D-III

il 1S 1Y Gl 11 DT fHe Sifor)

-1 -1
A [PifcaitF 1. |3 & 3a & o

B faEH L [rae fawedt
lc [Tt [egeR et
D fargdiafa I\-‘%E%? TP IC-cY[bHAl & FaTS

i fGu 7T fas el & ¥ 981 3R &1 944 Sifolu .
(1) A-II B-I, C-III. D-IV

(2) A-I, B-II, C-III, D-IV

(3) A-II B-IIL, C-I. D-IV

(4) A-IV, B-I, C-II, D-III

1[Option ID=12865]

2[Option ID=12866]

3[Option ID=12867]
4[Option ID=12868]

Sl. No.50
QBID:12245525




Match List I with List IT

ListI List IT
Essential o1l of

A [Acaricides [ |Gynandropsis
Gynandra

B _|[Insecticides  |II. [Pyrethrum Flower
|IC.|[Fodenticides |[III [Red squill

The berries of

D [Mollusecicides [IV. Iph}'tolacca

dodecandra

Choose the correct answer from the options given below :
(1) A-L B-II. C-III. D-IV
(2) A-IL, B-III. C-IV, D-I
(3) A-III. B-II. C-1. D-IV
(4) A-IV, B-1I. C-1, D-III

T 1S 1Y Yl 11 1 e Sife|

T T
A THdarEs L ﬁﬂ“ SR TG T TR

B [@lca=id [ [TRRYH & O

lc Rreafewgs [ jare
D [HIqglch s Sl V. [ aeicad] Slsdhl dl sl

4] feu U fopedl § T el 3R &l 90+ Hiferd ;
(1) A-I B-II, C-TII. D-IV
(2) A-IL B-IIL, C-IV, D-I
(3) A-III. B-II. C-1. D-IV
(4) A-IV, B-IL, C-I, D-III

1[Option ID=12869]
2[Option ID=12870]
3[Option ID=12871]
4[Option ID=12872]

Sl. No.51
QBID:12245526




Grven below are two statements ;

Statement I : Agar. guar gum. acacia and castor oil belongs to carbohydrates
clags of drugs.

Statement II : Talc, Kaolin and Bentonite are used as pharmaceutical aids.

In the light of the above statements. choose the correct answer from the options
given below

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II 1s false

(4) Statement I is false but Statement II is true

= 21y 2 g B
HYA 1 : TR, THIT 7S, ThTET 9 3S! &1 Oa Jbw @l @) e 31

FYA I1 : Toep, H3AITTH R S<HRE BFHRGREHT TS o 9 &-
SUlad YA & e |, A9 fGu T Aea! # 9 98t IR %1 994 sifeml

(1) SYWH] AR - 99 &
(2) FYH] AR I &Hf S &
(3) TR [ TO e A SUT I 3T &
(4) Y 39 2, AT Sy I1 94 &

1[Option ID=12873]
2[Option ID=12874]
3[Option ID=12875]
4[Option ID=12876]

Sl. No.52
QBID:12245527

Given below are two statements :

Statement I : Datura stramonium leaves are distinguished from the leaves of
Datura mnoxia by the margin which possesses teeth dividing the sinuses.

Statement II : Datura stramonium leaves are distinguished from the leaves of
Datura mnoxia by the lateral veins which run into the margmnal teeth.

In the light of the above statements, choose the correct answer from the options
eiven below

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I i1s true but Statement II 1s false

(4) Statement I 1s false but Statement II is true




F2 g1 Fy= fag e B

HYU |« UG EHIFTH T 4G SIS ®1 gival # ]o St 396 [$R1 & g g 959
# grar 8

& 11 : 4y TEiias $1 uRmdt & oqu safeaal @1 ukmt 9 9@t g R @1
f&Rl % gial a% Ugas ¥ e UgaH F&d ol

IWRIEd HYA & s d, A 8T MU [9nedl | 9 95l 3T &1 989 S

(1) FF [ AR Il - 5T 2
(2) FUF] AR IS4 ST &
(3) FY [ 9 &, o Fu= II 29T &
(4) FUH ] AT E AFT B 11 99 &

1[Option ID=12877]
2[Option ID=12878]
3[Option ID=12879]
4[Option ID=12880]

Sl. No.53
QBID:12245528

The shape of Kurchi or holarrhena bark is

(1) recurved

(2) Curved

(3) Channelled

(4) Quill

Fl (FIeRieT) BTE &1 AHR 77 & ¥ 59 yeR &1 31 &-
(1) gar1 &1 g (Reds)

(2) IR B TWE FHT gl

(3) AEER
(4) f==m (@)

1[Option ID=12881]
2[Option ID=12882]
3[Option ID=12883]
4[Option ID=12884]

Sl. No.54
QBID:12245529

For liquorice, propagation by vegetative means 1s by
(1) runners or offsets

(2) suckers or stolons

(3) division

(4) bulbs

sl (UF 7Y) & TR & ol aeeids aiiel-

(1) TUR HERT 3@l YRl

(2) TOF HEl T

(3) fEym=




(4) &g

1[Option ID=12885]
2[Option ID=12886]
3[Option ID=12887]
4[Option ID=12888]

Sl. No.55
QBID:12245530

Example of a cytotoxic (Anticancer) compound of Marine origin
(1) Lammine

(2) Manoalide

(3) Ara-C

(4) Anthopleurins

HItE 8 T A (G 3 e 9 & 99 ¥ Sue B §-
(1) wiEdE

(2) #AFATEES

(3) w-H

(4) TR

1[Option ID=12893]
2[Option ID=12894]
3[Option ID=12895]
4[Option ID=12896]

Sl. No.56
QBID:12245531

The causative organism of the disease 'bakanae' (foolish seedlings) is
(1) Agrobactermum spp.

(2) Fucus resiarlosus
(3) Gigartina stellata

(4) Gibberella fugikuroi

FHH! T Giem dsfe ARl & Y SRS Wio-
(1) uHead vt

(2) H dRFaEy

(3) e wde

(4) Femn wiegs

1[Option ID=12897]
2[Option ID=12898]
3[Option ID=12899]
4[Option ID=12900]

Sl. No.57
QBID:12245532

hRf values are in the range of
(1) 0.0-1.0




(2) 1.0-10.0

(3) 0-100

(4) 100 - 1000

hRf A =1 9 94 -
(1) 0.0-1.0

(2) 1.0-10.0

(3) 0-100

(4) 100 - 1000
1[Option ID=12901]
2[Option ID=12902]

3[Option ID=12903]
4[Option ID=12904]

Sl. No.58
QBID:12245533

Among the followmg. which is an example of primary metabolites -
(1) Alkaloids

(2) Carbohydrates

(3) Glycosides

(4) Saponins

g # § ®=F-91 wufEs feEmse $1 38 6-
(1) Uehlags

(2) = T

(3) WHHEES

(4) guif=

1[Option ID=12905]
2[Option ID=12906]
3[Option ID=12907]
4[Option ID=12908]

Sl. No.59
QBID:12245534

The schedule m drugs and cosmetics act that deals with the guidelnes for GMP
of Ayurvedic Drugs is

(1) Schedule M1

(2) Schedule M2

(3) Schedule M3

(4) Schedule T

il g waem sfufras ) S 6 = sfa B ufisa egdds shufy) § P64t 2
(1) TE M1
(2) =i M2
(3) TE M3
(4) =1 T




1[Option ID=12909]
2[Option ID=12910]
3[Option ID=12911]
4[Option ID=12912]

Sl. No.60
QBID:12245535

The elicitor used for mereasing the production of shikonin from plant cell
suspension culture of Lithospermum erythrorhizon is

(1) Chitosan

(2) Yeast

(3) Acetyl Salicylic acid

(4) Copper sulphate

gafa S #1 SikE FHdfea dad= ofeal gr Reia &1 Saes 7= & 5= aen
ad®-

(1) HEeEE

(2) I

(3) e Afermafas sr

(4) BIR-Tehe

1[Option ID=12913]
2[Option ID=12914]

3[Option ID=12915]
4[Option ID=12916]

Sl. No.61
QBID:12245536

The principal microorganism responsible for the fermentation of yoguut is
(1) Pediococcus cerevisiae

(2) Micrococcus spp

(3) Streptococcus Thermophilus

(4) Enterobacter Cloacae

ane &1 fpva b & ge g5a oie suant -

(1) U2 Fre Feaw

(2) ATSH! BI Holld]

(3) BUPEE YHBEE

(4) TRIEE @l

1[Option ID=12917]
2[Option ID=12918]
3[Option ID=12919]
4[Option ID=12920]

Sl. No.62
QBID:12245537




Match List I with List 1T

ListI List IT
Schedule M Specific requirement for
"(Part I-A) " manufacturing of oral liquids
Specific requirement for
B. el M I1. manufacturing of oral solid dosage
(Part I-B) £
orms
Schedule M Specific requirement for
2. II1. manufacturing of paranteral
(Part I-C) :
preparations
D Schedule M Specific requirement for
"(Part I-D) ‘manufacturing of topical products

Choose the correct answer from the options given below :
(1) A-II. B-1. C-IV, D-III
(2) A-IL B-III, C-I, D-IV
(3) A-II, B-II. C-1. D-IV
(4) A-II. B-IV, C-1. D-II

Tl 1% 1Y Gl 11 1 e eifom)
Gil

Il

, [FRot M | PR sE D @ forg fa=iy
Ly | |enaREEdn

b (TR M (HT] [T 319 G 0 & 1T o fag
[I-B) ' [fa=iY fra=gdar

o [ M (T (SR e dardt o fsor o ferg
-C) | EE IR Bl

- [EROT M (T [FER® IeTaT & fHEi0r e fed faury
I-D) EICEUEGI]

i< fau U fas el o 9§ TEl STk BT 99 Hifoil -
(1) A-IL B-I, C-IV, D-III

(2) A-II. B-III. C-I. D-IV

(3) A-III, B-II, C-I, D-IV

(4) A-III. B-IV. C-I, D-II

1[Option ID=12921]

2[Option ID=12922]

3[Option ID=12923]
4[Option ID=12924]

Sl. No.63
QBID:12245538

The type of food spoilage that occurs in fresh meat and fish is called




(1) Shme

(2) Putrefaction

(3) Moldy

(4) Rots

q 719 3 Asel § fd UeR ¥ Y §44 5l

(1) A (3E9F)
(2) §&A
(3) Hifts
(4) TreH (e

1[Option ID=12925]
2[Option ID=12926]
3[Option ID=12927]
4[Option ID=12928]

Sl. No.64
QBID:12245539

Which test 1s used for determmation of adequate pasteurization m milk ?
(1) Lime Test

(2) Phosphatase Test

(3) Dick Test

(4) Widal Test

gy ¥ Foiifasen & Hufp & R eE-91 ol vgea e 2

(1) TmsH gdem
(2) FTERET Tdigm
(3) Si® Tdigm
(4) fasm ol

1[Option ID=12929]
2[Option ID=12930]
3[Option ID=12931]
4[Option ID=12932]

Sl. No.65
QBID:12245540

Which agglutination test is performed for the diagnosis of typhoid ?
(1) Dick test

(2) Widal test

(3) Tine test

(4) Schik test

TEPIES & Hed & I F-|1 WgferwE udem fear o g7

(1) &= adtem

(2) fasma altemm

(3) =rgA wiam

(4) fare odiem




1[Option ID=12937]
2[Option ID=12938]
3[Option ID=12939]
4[Option ID=12940]

Sl. No.66
QBID:12245541

Plague or black death is caused by
(1) Bordetella pertusis

(2) Pasteurella pestis

(3) Salmonella Typhi

(4) Vibrio cholera

T SR &6 SY [Fue SR Bl 87
(1) SR R

(2) wrger AR

(3) oA argdl

(4) TS SR

1[Option ID=12941]
2[Option ID=12942]
3[Option ID=12943]
4[Option ID=12944]

Sl. No.67
QBID:12245542

Schedule "V' 1s related to

(1) Life period of drugs

(2) Standards for patent or proprietary medicines
(3) Standards for disinfectant liquids
(4) Standards for surgical dressings
R V' HEEE B

(1) 3wl &7 g sfawa

(2) U= 3R wiiAe & o A

(3) fGwem® @ia & o AFs

(4) |9 Ugl & o 7w

1[Option ID=12945]

2[Option ID=12946]

3[Option ID=12947]
4[Option ID=12948]

SI. No.68
QBID:12245543

When water m oil emulsion gets converted into oil in water type of emulsion, the
phenomenon 1s called as

(1) Flocculation




(2) Breakmg

(3) Inversion

(4) De-flocculation

e H O U1gE &1 wa § aa 9189 g $ gedl &l ®gd gl

(1) ol
(2) e
(3) wdig=
(4) fazu=
1[Option ID=12949]
2[Option ID=12950]

3[Option ID=12951]
4[Option ID=12952]

Sl. No.69
QBID:12245544

Colloidal silica is used as a glidant or flow promoter in tabletting process. Its
trade name 1s

(1) Kollidon

(2) Cab-0-Sil

(3) Carbopol

(4) Mannitol
HIget ke caule dHal § TWs 3K vare a9« § 399 601 91 51 391
IS 9 2

(1) FEEE

(2) FE-3f-fem

(3) wEMIA

(4) #fFeEE
1[Option ID=12953]
2[Option ID=12954]

3[Option ID=12955]
4[Option ID=12956]

Sl. No.70
QBID:12245545

A drug whose solubility 15 1g/L. m water, when administered through oral route at
a dose of 500 mg get absorbed almost 95% of the dose. The drug belongs to
which class according to the BCS classification.

(1) Class I

(2) Class II

(3) Class III

(4) Class IV

us vy formst wa # gemsfiaar 1 ¢/L 21 9@ 5981 500 mg GUF g & GRI ol & o 4
TRTHT 95% ARNTYd Bl widl §1 T8 Sy BCS FHI0 & R 59 T § 31l 3

(1) 7]




(2) =11
(3) T III
(4) TV

1[Option ID=12957]
2[Option ID=12958]
3[Option ID=12959]
4[Option ID=12960]

SI. No.71
QBID:12245546

Match List I with List IT Match the following Excipient used m Pharmaceutical
formals

List-I List-II
A. Stearic acid I. Suspending Agent
B. Sodium Algmate II. Lubricant
C. Polysorbates I11. frienc Uty
Polymers
Cellulose Acetate
- Phthalate I'V. Surfactant

Choose the correct answer from the options given below :
(1) A-II. B-1. C-IV, D-III
(2) A-II B-I, C-II, D-IV
(3) A-IV. B-II, C-III, D-I
(4) A-L B-IIIL, C-IV, D-II

1 1% 1Y g 11 SN SURT H WgEd §11 aTel 98 @l He St
L1 -1

A g o L [Hdits dR®

B. [OITS0H Tafore 11 [ded

c. [iferaReey 111 |3{=di¥e Ueid dgeid
D. [bddie thice dcie IV [0 Uisha@

+d feu U faedl § 4 el 3R &l 90+ DIl :
(1) A-II. B-1, C-IV, D-II1

(2) A-III. B-1. C-II, D-IV

(3) A-IV, B-II. C-III. D-I

(4) A-I, B-IIL. C-IV, D-II

1[Option ID=12961]

2[Option ID=12962]

3[Option ID=12963]
4[Option ID=12964]

Sl. No.72




QBID:12245547
Biological indicator used for moist heat sterilization is

(1) Bacillus Subtilis
(2) Bacillus Pumilus
(3) Bacillus Stearothermophilus

(4) Aquaticus Thermophilus

% Iig FordE e # 9T T o Iue
(1) Ffyes gadida

(2) sfeew g

(3) i WRdumi e

(4) THfcHd yHHEad

1[Option ID=12965]
2[Option ID=12966]
3[Option ID=12967]
4[Option ID=12968]

Sl. No.73
QBID:12245548

Calculate the relative bioavailability of following drug from tablet compared to the
oral solution

Dose AUC (ng Standard
Pz profuct (mg) h/mL) deviation
{Oral tablet 200 89.5 19.7
[Oral solution 200 86.1 18.1
e 50 37.8 5.7
i1jections
(1) 59.2%
(2) 104%
(3) 100%
(4) 37.8%

fAafaRad iy o 9re Wid Suaeidl @1 0] cdae AR Rd fgady @i
JaTT PR DA

3 WWTH AUC (ke e
(mg) h/mL) IEEGR]

FRTcgae 00 e 19.7
AR fdema oo 86.1 181
IV & ey L

% 50 378 5.7
(1) 59.2%
(2) 104%
(3) 100%




(4) 37.8%

1[Option ID=12969]
2[Option ID=12970]
3[Option ID=12971]
4[Option ID=12972]

Sl. No.74
QBID:12245549

A highly branched polymeric material which is also a star - shaped
macromolecule and whose structure resembles with tree 18 known as

(1) Nanoparticles
(2) Dendrnmers
(3) Liposomes

(4) Polymeric micelles

U% sgyford spfae gerd & O & Hewm geaen] i § iR gue! | U @t ave et
t 99 ®ed &l

(1) FHurdsa
(2) 3@‘ H
(3) TI=ET

(4) gt &

1[Option ID=12973]
2[Option ID=12974]
3[Option ID=12975]
4[Option ID=12976]

Sl. No.75
QBID:12245550

"Color - Break" and "Score - Break" are the types of
(1) Ampoules

(2) Rubber closures

(3) Infusion devices

(4) Vials

o fame ot 9w fawe o°F @ f5us eR &
(1) TAETE

(2) I T =

(3) THu= yumeit

(4) ==

1[Option ID=12981]

2[Option ID=12982]

3[Option ID=12983]
4[Option ID=12984]

Sl. No.76
QBID:12245551

Which of the following step in the process of sugar coating of tablets is used to
round the edges and build-up the tablet size ?




(1) Seal coating

(2) Sub-coating

(3) Syrup coating (smoothing)

(4) Polishing

CEeIE BN B § AN fFART &1 7id S & {00 eacie $1 Wb Wod uiea ¥ 599 §
F1H-T il BT IUEN BT 87

(1) ¥ yag

(2) ¥g vod

(3) =rE e (R

(4) THFIAI

1[Option ID=12985]
2[Option ID=12986]
3[Option ID=12987]
4[Option ID=12988]

Sl. No.77
QBID:12245552

Wet granulation of tablet preparation mvolves followmg steps :

A. Mixing

B. Granulation
C. Sieving

D. Compression

Choose the correct answer from the options given below in a correct sequence :
1) C.A.B.D
2) DDA B.C
3) A.B.C.D
(a) B.D. A C

Tgne 1 B R Bt § FoffEa 7 3 $19-0 v afifme 2

A. HiEE s
B. ®it&sEa
C. 9/
D. Hdisq

i fau Ty fowedl # 9 961 %A H, 95l 9T &1 997 S|
a) C.A.B.D
2) DDA.B.C
3) A.B,.C.D
4) B.D.A.C

1[Option ID=12989]




2[Option ID=12990]
3[Option ID=12991]
4[Option ID=12992]

Sl. No.78
QBID:12245553

Which technique does the pharmaceutical industry routinely use to screen for
polymorphs of a compound ?

(1) NMR spectroscopy

(2) HPLC

(3) Powder XRD

(4) Mass spectrometry

T8 § BH-91 de-ie Yewsdr | o ¥9 § 9ifE @1 9gedsal i oig § S99 gl
&7

(1) NMR HFHM]

(2) HPLC

(3) T3STXRD

(4) O WaHEd]

1[Option ID=12993]
2[Option ID=12994]
3[Option ID=12995]
4[Option ID=12996]

Sl. No.79
QBID:12245554

The oil - in - water type emulsion are produced by such emulsifying agents

A. Gum Acacia

B. Wool fat

C. Beeswax

D. Saponins

E. Methylcellulose

Choose the correct answer from the options given below :
1) A.Band C
(2) B.Cand D
3) ADand E
(4) C.Dand E




WA H 90 SR F1 U0d &9 qodiet $RE 9 9941 o

A. TH HBTHEa
B. A gHE

C. AyHTE] ®1 14
D. Fuif=

E. Afdosegers
i f2u U el H § 98 T =1 97 i .
(1) A.B3RC
(2) B.C3RD
(3) A.DSRE
(4) C.DRE

1[Option ID=12997]
2[Option ID=12998]
3[Option ID=12999]
4[Option ID=13000]

Sl. No.80
QBID:12245555

The amount of drug decreases as follows from a solid dosage forms :

Time (min) Drug A (mg)
10 96.0
20 89.0
60 57.0
94 340
120 10.0
130 235

The decrease in the amount of drug appears to be a
(1) First order process

(2) Zero order process

(3) Pseudo first order process

(4) None of the above




31 WGR1P & v9 H SHIY(Y BT A1 59 oRe J 9e 6! 5

Time (min) Drug A (mg)
10 95.0
20 890
60 37.0
a4 340
120 10.0
130 P
319y Pt AN [y dve gedl g% Wi of 3ol 6|
(1) wuH Hife o |
(2) T &I Hisal
(3) @eH Hife ufsar
(4) 3HH A B =8

1[Option ID=13001]
2[Option ID=13002]
3[Option ID=13003]
4[Option ID=13004]

Sl. No.81
QBID:12245556

Which of the following is not true about Reynolds number ?
(1) Reynold number determmes the type of fluid flow.

Considering standard conditions, Reynolds number value below 2000 indicates

(2) ; :
lammar or stream line flow

Considermng standard conditions. Reynolds number value greater than 4000

3)
) indicates turbulent flow

Considering standard conditions, Reynolds number value greater than 8000
mdicates transitional flow

0 ¥ BIH-91 9199 Hosd 98 & g § 98l 81 o
(1) sy 9= ovd WaTE & UeR &1y S g

2 AT SRS &1 71 gY 2000 ¥ &H Hes 9@ Yo SR Einas vae & vefdfa
HY B

(3) wWrg gEne B A dl 4000 ¥ STE1 e 91 Ay vaTE &1 daikia s ol
(4) I =S € AF @ 8000 ¥ eI Hed I8 Siaiadd vaE &1 Yeiid &3 gl

(4)

1[Option ID=13005]
2[Option ID=13006]
3[Option ID=13007]
4[Option ID=13008]

Sl. No.82
QBID:12245557

Which of the following material is most commonly used for blister packaging of
tablets and capsules.




(1) Cellophane

(2) Poly acrylate

(3) Polyvinyl chlonde

(4) Polyester

57 9 BH-91 9gTd TEoiE SR ST B Saad i & (O Sgardd w9 § Hgad ordl 67
(1) HareA

(2) Tl THETe

(3) dUiTifgAsT FORSS

(4) UICITEY

1[Option ID=13009]
2[Option ID=13010]
3[Option ID=13011]
4[Option ID=13012]

Sl. No.83
QBID:12245558

Noyes - Whitney equations is used to describe the
(1) Furst order kinetics

(2) Zero order kinetics

(3) Second order kinetics

(4) Dissolution rate

Arg9-fae-Tt i &1 S g0 & fo o e &-
(1) yuH HifE TSl

(2) T BIE e

(3) fedta =ife et

(4) IR &%

1[Option ID=13013]
2[Option ID=13014]
3[Option ID=13015]
4[Option ID=13016]

Sl. No.84
QBID:12245559

The abbreviation of Latin word Rx is
(1) You take

(2) To make

(3) To sold

(4) To use

dfes oo Rx F1 Higmd =9 2

(1) You take

(2) To make

(3) To sold

(4) Touse




1[Option ID=13017]
2[Option ID=13018]
3[Option ID=13019]
4[Option ID=13020]

Sl. No.85
QBID:12245560

Match List I with List II Size Reduction method

List-1 List-II
A WCutting method [. [Vibrational mill
B_|Compression method I Pl}ud RREIEY
jmall
IC_Impact method [11 [Cutter mill
D Combined impact and attrition v Roller mill
method

Choose the correct answer from the options given below :
(1) A-IIIL B-IV, C-I1, D-II
(2) A-IL, B-I. C-IIL, D-IV
(3) A-I, B-III. C-II, D-IV
(4) A-IV. B-1I, C-1. D-III

il 1S 1Y Gl 11 T e Sifor)
THR frre fafy

a1 -1
A [ fae [ [argdyd fid
B_[HureA fafy 11 |TFES Tl Ha
|C. [eHTerd fafe 111 [eR e
D_[€gad THTITd 3R Nl v RIeR e
- feu T fasedl & | Hel IR &1 98- DI -

(1) A-IIL B-IV, C-I, D-II
(2) A-IL. B-I, C-III. D-IV
(3) A-I, B-III, C-II, D-IV
(4) A-IV, B-1I, C-I, D-III
1[Option ID=13025]
2[Option ID=13026]

3[Option ID=13027]
4[Option ID=13028]

Sl. No.86
QBID:12245561




Match List I with List IT Types of disperse systems

List-1 List-IT
A |Gas + Liquid LI Emulzion
B. |Solid + Ligud II. |Solid aerosol
IC. |Liguid + Liqud [1I. [Suspension
D. |Solid + Gas [V |Foam

Choose the correct answer from the options given below :
(1) A-III. B-IV, C-1. D-II
(2) A-IV, B-III, C-I, D-II
(3) A-III, B-IV, C-II. D-I
(4) A-IL B-I. C-IV. D-III

T 1S 1Y Yl 11 1 e Sife|

&Y §F & UPR

a1 A1
A, [fE+d@a [ [O=d
B. [39+did 1 |3/ R
IC. [ +d NN ERESE]
D. [6/+79 V[

=d feu 0 fawedl § Q Ul 3Tk &1 994 Hifol .
(1) A-IIL B-IV, C-I, D-TI

(2) A-IV, B-IIL C-I, D-TI

(3) A-IIL B-IV, C-II, D-1

(4) A-IIL B-I, C-IV, D-III

1[Option ID=13029]

2[Option ID=13030]

3[Option ID=13031]
4[Option ID=13032]

Sl. No.87
QBID:12245562

Durmg the preparation of calamine lotion. gel to sol conversion of bentonite 1s
achieved by addition of following agent

(1) Tragacanth

(2) Acacia

(3) Sodum citrate

(4) Gelatin

ST TEE JOR $3d 9090 STeHRe $1 IRET AR o Tomw fFas 5/ 924 6l

(1) s




(2) THEmE
(3) HiEgH fce
(4) fomifes

1[Option ID=13033]
2[Option ID=13034]
3[Option ID=13035]
4[Option ID=13036]

Sl. No.88

QBID:12245563
Match List I with List IT

Match the degree of size reduction with respective method

List I (Degree of size ; ’
Reduction) List II (Typical methods)
Combined
A Large pieces 1. impact and
attrition mills
B Coarse I Fluid Energy
' powders ' Mills
Fine :
I P I11. Impact mills
Wiy Fine Cutter or
D. IV. COMpression
powders :
mills

Choose the correct answer from the options given below :

(1) A-IIL B-IIIL, C-IV, D-I
(2) A-IV, B-III, C-I, D-II
(3) A-L B-III. C-II, D-IV
(4) A-IV, B-1. C-III. D-IT

Y 1S 1Y Gl 11 T e Sifor)

PR B A Hadl fafe & T fbe= i)
TN GTRTHTA | ftr e wom
A TRTH %ﬁﬂ%m@ﬁ? SIEPER
B. 3121 900 1. i3S UHol

lc. TR gu 1. 3de Hd

D. 3id @ 9ol V. S AR YUs Hd

=< feu e fawedl § 9 Ul 3R &1 994 Hifol .




(1) A-II, B-III, C-III, D-I
(2) A-IV, B-III, C-I, D-II
(3) A-I, B-IIIL, C-II. D-IV
(4) A-IV, B-1. C-III, D-II
1[Option ID=13037]
2[Option ID=13038]

3[Option ID=13039]
4[Option ID=13040]

Sl. No.89
QBID:12245564

Match List I with List IT

List I (Processing Problem
in Tabletting)

A Lamination
B. Mottling

C. Picking

D. Capping

I.

I1.

I1I.

List IT (Details)

Partial or
complete
separation of
the top or
bottom crown
of tablets from
the mam body
of the tablets
Surface
material
sticking and
removed from
tablet's surface
by punch
Uneven
distribution of
color on tablets
Separation of a
tablet mto two
or more
distinct layers

Choose the correct answer from the options given below :

(1) A-III, B-IV, C-II, D-I
(2) A-II, B-III, C-I. D-II
(3) A-IV, B-III, C-II, D-I
(4) A-IV, B-III, C-I, D-II




il 1S 1Y Gl 11 DT fHe Sifor)

wu;qﬁmmﬁ)% - (o
[ ¢dcic & 3UR d Ard R @l
A TR AT | oo gy
11 ¢qcie @1 Udg d 9de
B. RGR B Udid®! e 31X g1 Ud &
E1RY
lc. <94 Bl Ode emel L acie J 3 &1 3fgHH
EEASGL [EERRUI
D. 31556 YA YN BILV. cacie & 9ag JUad o o a1
oG] Ode o

=< < 70 faswedl § § Il 3R &1 994 Bl |
(1) A-IIL B-IV, C-II, D-I

(2) A-II B-III, C-I. D-II

(3) A-IV, B-IIL, C-II, D-1

(4) A-TV, B-IIL, C-I, D-II

1[Option ID=13041]

2[Option ID=13042]

3[Option ID=13043]
4[Option ID=13044]

Sl. No.90
QBID:12245565

Which of the following mhalational general anaesthetic exist as gas ?
(1) Halothane

(2) Nitrous oxide

(3) Izoflurane

(4) Diazepam

54 9 BH-9 Fye Snn &1 9w 9 8 i e
(1) oY

(2) TECH SMEHES

(3) HEE WA

(4) smEfemm

1[Option ID=13045]
2[Option ID=13046]
3[Option ID=13047]
4[Option ID=13048]

Sl. No.91
QBID:12245566




Which of the following 1s

betalactum antibiotic ?
(1) Penicillin

(2) Cephalosporin

(3) Imipenem

(4) All of these

g & ®-w1 dier deen vy ofe &2
(1) SRR

(2) EErie

(3) sHITUFA

(4) |

1[Option ID=13049]
2[Option ID=13050]

3[Option ID=13051]
4[Option ID=13052]

Sl. No.92
QBID:12245567

Which of the following is not the first choice of drugs for treatment of Genital
Herpes simplex ?

(1) Acyclovir

(2) Famceclovir

(3) Valacyclovir

(4) Cefaroxime

38 § - oA sty Rredes & gore § yud fawe 78 &
(1) TERSIER

(2) FHRTEIER

(3) TIETETEAER

(4) FENIfETA

1[Option ID=13053]
2[Option ID=13054]
3[Option ID=13055]
4[Option ID=13056]

Sl. No.93
QBID:12245568

Following drug is, short acting sedation - hypnotic ?

(1) Triazolam

(2) Diazepam

(3) Lorazepam

(4) Nitrazepam

9 # 9 $E-0 ol &0 g & fF gwid aes- s 87




(1) ToeeH

(2) =g

(3) @RI U

(4) -IEgIETUH
1[Option ID=13057]
2[Option ID=13058]

3[Option ID=13059]
4[Option ID=13060]

Sl. No.94
QBID:12245569

Which of the following hypolipidaemic drugs 18 a HMG - CoA reductase
mhibitor.

(1) Ezetinibe

(2) Fenofibrate

(3) Rosuvastatin

(4) Nicotmic acid

T ¥ BH-41 BEdIfesiEe sfufd & o 15 HMG-CoA Ysaes dad® &7

(1) THidHEEe
(2) ferIRsiE
(3) IRErEIeA
(4) F=ifedis tirs
1[Option ID=13061]
2[Option ID=13062]

3[Option ID=13063]
4[Option ID=13064]

Sl. No.95
QBID:12245570

Which of the following anti-tubercular drug is unsafe to prescribe during
pregnancy ?

(1) Isomiazid

(2) Rifampicin

(3) Streptomycin

(4) Pyrazinamide
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Which of the following anti-Parkinsonian drug is a MAO - B inhibitor ?
(1) Bromocriptine

(2) Carbidopa

(3) Selegiline

(4) Amantadine

98 € -4 g2l ufe-ar-aa Sufy § of e MAO-B iy &2

(1) sAIEIEH

(2) @Els@E

(3) Sftrforamg

(4) sFmersa

1[Option ID=13073]
2[Option ID=13074]
3[Option ID=13075]
4[Option ID=13076]

Sl. No.97
QBID:12245572

Which of the following oral anti-diabetic drug is not a sulfonylurea
(1) Repaglimide

(2) Glipizide

(3) Gliclazide

(4) Glibenclamide
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Which of the following is a long acting corticostesoid
(1) Cortisol

(2) Predmisolone

(3) Dexamethasone

(4) Triamcinolone
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Which of the following is the natural anticholinergic drugs ?
(1) Cyclopentolate

(2) Biperidin

(3) Solifenacin

(4) Atropmne
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In urmary imcontinence following drug 1s widely used
(1) Pirenzepine

(2) Cyclopentolate

(3) Darifenacin

(4) Hyoscine

o @ B4 il g2 srigw # fasga wv § Swd gl &2
(1) grs=haeE

(2) wzE@U=<e

(3) St

(4) EEIRE

1[Option ID=13089]
2[Option ID=13090]
3[Option ID=13091]
4[Option ID=13092]




